Algebra 2
Chapter 9 Review Pt. 1
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9.1 Direct Variation

1. xand y vary directly. X = 11 when y = 33. Find the constant of variation. State the direct variation

equation. Then find x wheny = 9. y= K¥ el Y
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2.xand y vary directly. x = - when y == Fmd the constant of variation. State the direct variafion

equation. Then find ywhenx =:10 3. 7 =
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3. Given the following data set, do x and y vary dlrectly? {(4,1.6),(12,4.8), (20 8),(50,20)}
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4. Given the following data set, do x and y vary directly? {(2, 14), (10, 70), (5, 35), (6,48)}

9.2 Graphing Rational Functions
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For the following problems, state the following: x-intercept(s), y-intercept, vertical asymptote(s), and

horizontal asymptote.
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9.3 Simplifying, Multiplying, & Dividing Rational Expressions
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